Loy z,/ (m,;. ? ar'f
[
= R R AT W . .- C =
b3 P A AR Lo sw (8- N) - 3 W .

2 e Llﬁ/u”“' AX Q-o U ———l ‘
Fo U op At- g LEWBR 2333800 Yu only |
= 23N hun,

/) z B =
T //' u\ {/ uZ_ ;‘— O) ] = M( (T\’ \DB = u"'( (l - | \>
oé ;:: /l?_

> B _
/ / -> _\j(u.“"uz)" u|(v+u2'7~

T\ — M\To'f‘ UQTL . ls’ , (—8 C)‘\ 6.5 'T[,L’ZDOC

\( - ___.__--""'"'" = __u_)________
U +Uz O.p"*-o.) Bux/?/&

i\

[y . ) 0‘f‘c.>:>.
T, Z@; o 48°C $oC.

| . b U.(T.—To> ,_‘i‘... YT T, o
1) = Ug(-To) = Uy - 77,7 o, Tl ]

U+, 2
= 115-;\-?)"-2 ~ : o/ | W ‘
T [+ o.4fC - (-2 c.)]= o 38 i
58 | Q~&??é¥5-lo'} ™ t
(5 D= — = = 50(.5 nn (&t ) 0.% =y
- *T 5938k —— e e Z
6.b O°%C 2 2135 L fufsx = (,I_“.’_ = .l /um
T D Yfgphey » A= G = M po
poc?d 27%Isk )(:"’“:wt__»_ . ;3/‘“,1 Wyt~ &= 4 = 1
(I &Q_\q_‘% L (esap 3 g _gw":;"u //n,;/ /2.)
¢-1d —_—
X 7¥-<‘-Z|Q-A = 0.5 O}f-\%?"‘/t.)m“ = 154 W
o5 —
6 TTA =N = T- /’3* = 4gr Wl 7 o g8k = 21X
‘) \ 567 o sw“/m =
[ b Nushels a.J( bodor -

}%_



J;S,/Oﬂ'hc_ai efe

ﬂ N = /VM - SK/DJ’!Z—J' £5L - 5.022_,_”,ng~'___ 2.0- /0%
%2 FoTa W\t“ e 136.%66552 u = 2,2F0%\ /o'?'?_na. |
% ~ SR
%2 wm- Hca kL0 }'/”20 = o+ Ho= 2-/.00%9‘*’5\--3334"1/5’*05%’“/
n = o e leery 085 meol

wt
’7’ Q"f“"'/’o - ,g O’FJ/W/ 2o

a
£= Nt T Huer M
3/ 20 3FEFel * o
i = 4. "f 0 im
C.O0M 1o pat™! < 2P A

26 W52 3 1 It
éﬁ,”‘ 0 weof ~ 275/ 3 Fidis ‘W M1 o %f
= 3? = 955 F““ (
o ' — 1

}_'_b_ Qo= / > [ 2.6 Ik - E]_

$ Na 1292 3)ua: 6022 g mad™ T 3.2 “/;; S g /w.ﬂ

= 3%
3‘--#“’: i 293 Qo> [FoTa €2 ) —

Hup = 23% 2o 4 2L 2 py 1% Fhr = 2305 Yt
14,0067 + C.of - 38.948 = 24. 05—(7/‘"0_/

= 0.3% - 159884 +0.7¢ - T
=19 J/m/(



